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| Time: 10 Minutes | Paper Math 8(T-1) |  Total Marks: 10 |

| 4th Month, 4th Week, 2nd Day | Ex 2.21 Q#(7,8,9,10,11) 2.22 Q #(1,2) |

Q.1. Choose the correct options. 1x2=2) -U /.,«l‘i".'lb/_.«b?u/;

1. What is the solution of x —3 <2 ?‘gggfb/x -3<2

(a) x<5 b x<-1 (©) x<1 @| x<-5

2. The solution of —7x <49 is: 2‘¢J' ¥—7x <49

(a) x<7 d| x<7 |©| x<49 |@]| x<-49

¥ Answer the following questions: 2x4=8) Y ;.,uzéc,my‘j 31O%)
Q.1. The denominator of a fraction is 5 more than the numerator. But if we

subtract 2 from the numerator and the denominator of the fraction, we

1
get e Find the fraction.
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Q.2. Fida bought 3kg melons and 4kg mangoes for Rs. 470. Anam bought 5kg
melons and 6kg mangoes for 730. Calculate the price of melons and
mangoes per kg.
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Q.2. Fida bought 3kg melons and 4kg mangoes for Rs. 470. Anam bought Skg
melons and 6kg mangoes for 730. Calculate the price of melons and
mangoes per kg.
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